Revision on factoring
I do not think you need more revision on solving quadratics.  Factoring is the key.


EXERCISE 2B: Not all of them are quadratic expressions, but it is still good practice of finding common factors.
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EXERCISE 2E: Factorize by grouping:
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EXERCISE 2F
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ANSWERS:
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EXERCISE 2B
1 Fully factorise:
a3z-9
d 3ab—6b
g P+
2 Fully factorise:
a 3(z+5)+z(z+5)
c zz+d)+z+4
¢ a(c—d)+b(c—d)
g ab(z-1)+ecz-1)
3 Fully factorise:
a a?-16
d 49422
3 8122 - 162
4 Fully factorise:
a 222-8
d dz-9z°
g O —db
5 Factorise:
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1 Factorise:
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2 Factorise:
a 2?-dz+53-20 b 2 Tz+2c-14 € 2?—3z-20+6
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2 Factorise:
a 2?+ds+3 b 2?41z +24 € 224102421
d 2?4 150454 e 22492420 1 2?48c+15
8 22+ 10z+24 h 22492414 I 2?462+8
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Factorise:

a 2?-3c+2
d 22~ 14z +33
g 22-11z+28
Factorise:
ag’-Tc-8
d 2?-2-8
9 22+3z-54
| 22-z-6
m 2?4318

Fully factorise by first removing a common factor:

a 202 +102+8
d 202 - 44z + 240
g 2z° -2z -180
| 2 -T2? -8z
m 522 - 30z ~ 80
Fully factorise:

a —z2-3z+54
d 4z-22-3

g —z2+2z+48

b 2?-4z+3
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